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QID : 101 - Select the related word from the given alternatives.

Alive : Dead :: Question : ?
U 1w fashedl & @ Hefed Ueg 1 giav|

e ga v ?
Options:

1) Options

[Tl

2) Answer

3cX

3) Right

il

4) Ask

ISeT

N
Correct Answer: Answer
¥

Candidate Answer: Answer
3cc I

QID : 102 - Select the related letters from the given alternatives.

CAE : XZV :: JHL: ?
o T Rt # & wftra Rt gl

CAE : XZV :: JHL: ?

Options:
1) QSO

2) IGK
3) PRU

4) GEI
Correct Answer: QSO
Candidate Answer: QSO

QID : 103 - Select the related number from the given alternatives.

2.25:13/4::3.75:?

fow aTe farehedlt # @ Heiftrer ST &1 g
2.25:13/4::3.75:?

Options:

1) 17/4

2) 19/4

3) 15/4

4) 11/4
Correct Answer: 19/4
Candidate Answer: 19/4
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QID : 104 - Select the odd word from the given alternatives.

u 1w fasmed & & fawe ereg &1 gAv|
Options:

1) Book

ER—'HT’F

2) Tyre

TRIX

3) Bangle

Tl

4) Compact disk
FredFe BT

Correct Answer: Book
NOGED

9
Candidate Answer: Book
JEdh

)

QID : 105 - Select the odd letters from the given alternatives.

faw 1w et & & fawer et &1 gfw)
Options:

1) NML

2) EDC

3) QRS

4) WU
Correct Answer: QRS
Candidate Answer: QRS

QID : 106 - Select the odd number from the given alternatives.

few a1 faehedt & & fawer e i g
Options:

1) 18

2) 45

3)54

4) 55

Correct Answer: 55

Candidate Answer: 55

QID : 107 - A series is given, with one word missing. Choose the correct alternative from the given ones that will complete the series.

master, ember, bombay, animal, abdomen, ?

Teh 37eTeha 18T a1 B, TSere Ueh 9ree; ofed 81 74U 910 fashedl # & a8 WEl fashed YT ST 37egshat 3l O e |

master, ember, bombay, animal, abdomen, ?
Options:

1) money

2) ambush

3) deform

4) crime
Correct Answer: deform
Candidate Answer: [ NOT ANSWERED ]

QID : 108 - A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
AbCdE, DeFgH, GhIjK, JkLmN, ?
Teh 37eTehe 8T a1 B, TSee Ueh U ofed &1 U a1v faemedl & & ag HEY fahed YT St 1efshet 1 U |

AbCdE, DeFgH, GhIjK, JkLmN, ?
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Options:
1) OpQrsS

2) NoPgR
3) MnOpQ

4) LmNoP
Correct Answer: MnOpQ
Candidate Answer: MnOpQ

QID : 109 - A series is given, with one number missing. Choose the correct alternative from the given ones that will complete the series.
4,5.2,6.4,?,88
T 31efha T ara B, Fd Ueh Hedt ofed ¥ T arw fashedt A & a7 @ sk iAw S g S qu |

4,5.2,6.4,?,8.8
Options:

1)7

2)8

3)7.6

4)8.25
Correct Answer: 7.6
Candidate Answer: 7.6

QID : 110 - Bobby's birthday is on Monday 5t June. On what day of the week will be Pinky's Birthday in the same year if Pinky was born on 22nd September?

JTelT &7 SeHiGeT 5 ST HAGR 1 ¢ | 3 a¥ THT FT oA et Godg & o &7 T 3meen afg et &1 stea 22 ﬁ?iaw#gfaﬂ’é?
Options:

1) Saturday

gfaar

2) Wednesday

FYAR

3) Friday

?_Lﬁv_cﬂ?

4) Sunday

IR

Correct Answer: Friday
?W'IT

Candidate Answer: Friday
MEEIR

QID : 111 - The weights of 4 boxes are 10, 40, 50 and 80 kilograms. Which of the following cannot be the total weight, in kilograms, of any combination of these
boxes and in a combination a box can be used only once?

AR ST T ot 10, 40, 50 37K 80 Fheams &1 Fo=Afaf@d & & aorat & Tonel ot Halsat A Foot Foiet, Fehelarma # it AT A€ &1 Fehell & 3R Teh HATSTl & Teh FaraT

TS & IR JAT 7 AT ST Tl &7

Options:
1) 120
2) 100
3) 90

4) 110

Correct Answer: 110
Candidate Answer: 110

QID : 112 - From the given alternative words, select the word which cannot be formed using the letters of the given word:
ELABORATE
ATl faehedl & & g oo YAV SiY fGT T ez & 3R T TN Hieh AL ST ST Hehell:

ELABORATE
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Options:
1) BRUTAL

2) RELATE
3) EARLOBE

4) BERATE
Correct Answer: BRUTAL
Candidate Answer: BRUTAL

QID : 113 - If MARBLES is coded as PDUEOHV, then how will GIN be coded as?

I MARBLES & {5t #15 3 PDUEOHV for@r Si7ar §, af GIN &t 33 sl & a7 forar sireem?
Options:

1) SEG

2) BHU

3) WGI

4) JLQ
Correct Answer: JLQ
Candidate Answer: JLQ

o

QID : 114 - In a certain code language, '+' represents 'x', '-' represents '+', 'x' represents '+' and '+' represents '-'. What is the answer to the following question?
54x9-3+4="?
TR 18 ST H, '+ & AT X' &, - T HATAT '+ §, X F A '+ § 3R '+ FT Adee - §1 FEafaf@a ue & 3caw = 82

54x9-3+4=?
Options:

1) 10

2)5

3)2

4)8
Correct Answer: 5
Candidate Answer: 5

QID: 115 -1f 14 % 32 = 46, 52 % 20 = 72 then what is the value of 35 % 14 = ?

7 14 % 32 = 46, 52 % 20 = 72 A 35 % 14 = ? F AH AT I |
Options:

1) 39

2)29

3)19

4) 49

Correct Answer: 49

Candidate Answer: 49
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QID: 116 -

Select the missing number from the
given responses:

feT a1 fasmedt & & oca d@ea
gfaw|

36 | 45 (105
12|19 | 7
9|2 | ¥

Options:
1) 112

2)98
3)15

4)5
Correct Answer: 15
Candidate Answer: 98

QID : 117 - Anu and Bittu start from the same point. Anu walks 35 m South, then turns West and walks 15 m, then turns to his right and walks 45 m. At the same
time, Bittu walks 25 m North, then turns to his left and walks 15m. Where is Bittu now with respect to the position of Anu?

3] 3R f9g veh &1 g A i YReT 3 €1 317,35 #iex &faior &1 3R Terc § T Hgert aiRe# i 3R 15 #iex Terdl §, fh 3r0a arfeedl 3T 735 45 Hiex wefch 81
33 Ty 19, 25 Hiex Sea¥ i 3R Terd § R el ST 3T 5T 15 Hie Tefdn ¢ | 3107 1 FFufa & 319 f9g el ) 82
Options:

1) Bittu is 95 m to the North of Anu

f9g, 3/ & 95 #le ScaW H I &

2) Bittu is 15 m to the South of Anu

fg, 317 & 15 e RO H AT

3) Bittu is 15 m to the North of Anu

f9g, 31 & 15 e SeaR FT 3N &

4) Bittu is 95 m to the South of Anu

g, 3 & 95 #fex afdror #1 3w ¥

Correct Answer: Bittu is 15 m to the North of Anu

g, 31 & 15 #ex 3ok 1 AR &

Candidate Answer: Bittu is 15 m to the North of Anu
g, 39 & 15 FeT s A I

QID : 118 - In the question a statement is given, followed by two arguments, I and II. You have to consider the statement to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given arguments, if any, is a strong argument.

Statement : Should sale of alcohol near highways be banned?

Argument I : No, people should have freedom to decide as it is their fundamental right.
Argument II : Yes, 90% of road accidents involve drivers who are under influence of alcohol.

9T # Ueh T AT a1ar § Taeh 3t &t b I 3R 11 Ru a1 §1 3m9eh! AT § S U7 T § 91 98 AHId: AT a2t & et Tcid gar 811 3maeh! Aolr e g
o T a1e at o @ FiF-ay/PT-d 76 Ao €, IR P A

FY : TSATN & 9T IR H [¥hr o Far ufdser semar ser arfge?

& 1 : AT, Al Y AT S Y TadTar gl TIRT Fifh Ig 3T Aiforw 3fRFER B
& 2 1 8T, 90% TS gueaA3 # 5l ot o era & g F 3 § T R |
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Options:

1) if only argument I is strong.

IfE Hae d% | Ao §

2) if only argument II is strong.

Tfe; el T 11 AT &

3) if both I and II are strong.

T Qxat o 1 3R 1T ForeT &

4) if neither I nor II is strong.

g AT & 7 1 3R a1 & 7% 11 Aot §
Correct Answer: if both I and II are strong.

It gt & 1 3R 11 Aot &

Candidate Answer: if only argument II is strong.

e Fael o 11 Aslgd &

QID:119-

Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?

fFrAfaf@d 3cax Impfd & & i @1 o4
U o oot IFAT A A gy v A
AT FAET ST Fehell?

=0
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Options:

1)
e @
- * *
2)
i,
@
3)
E7
e @
L ]
L ] [ ]
4)
@
']
e
[
O |=?
']
Correct Answer:
@
']
e

']
']
Candidate Answer:

O ||

QID: 120-

In the following figure, square represents doctors, triangle represents
artists, circle represents weight-lifters and rectangle represents

Russians. Which set of letters represents Russians who are not doctors?

ﬁuﬁ@aa@ﬁﬁ.aﬁﬁﬁmﬁaﬁm%ﬁwmﬁ
e &1 gufar & SR omad IRGE &1 exiar 21

m%.g

&Rl BT DI 1 YE 3 WGY S a1 g ol fafdds 181 5
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Options:

1)A

2)EFA

3)A, BC

4) B,C,D

Correct Answer: B,C,D
Candidate Answer: B,C,D

QID:121-

Which answer figure will complete
the pattern in the question figure?
Ffaf@a # ¥ Fia-8 3eav gl we
Ipfa & gfawa 1 @ #El?

Options:
1)

=

Correct Answer:
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Candidate Answer:

QID:122-

From the given answer figures, select the
one in which the question figure is
hidden/embedded.

& ¢ 3eax Igfadt 7 ¥ 37 wgfa w1 gfw
S e mpfa fafea 2

Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:

QID: 123 -
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Options:

1)

N

7

2)

b

%

4D

b

3)

AN
7

N7

AN

A
N

Correct Answer:

N

7

4

N

Candidate Answer:
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QID: 124 -

If a mirror is placed on the line MN, then
which of the answer figures is the right image
of the given figure?

i T 99T H MN @ 9T @ ST ar & 9

3o Fpfaat 7 & Fia-Hr IHfa gea At
& el Wialass gri?

Options:
1)

—

2)

3)

|

4)

A

Correct Answer:

£

Candidate Answer:

£
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QID: 125 -

A word is represented by only one set of numbers as
given in any one of the alternatives. The sets of
numbers given in the alternatives are represented by
two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-I are
numbered from 0 to 4 and that of Matrix-II are
numbered from 5 to 9. A letter from these matrices
can be represented first by its row and next by its
column, for example 'K' can be represented by 14, 03
etc and 'Z' can be represented by 58, 69 etc. Similarly,
you have to identify the set for the word 'FUEL'.

UF e FO0 UF WEA-HHp AW & amm g, S R
famedt # & Rl & & R mn §1 Rwedt & Re v
TET-ag MR & o @t gan v Av E 3 R Ry
AT g Heggl A gl Hegpl & wd HR Ofda & oden
0 & 4 X 3egg-l 5 F 9 ¢ 51 WegEl & TF BN
A 9ge I ofda i A & wew wE ganr g
S THAT £ 3SEROT F T K @ 14, 03 3 g@mr v
ST T § U 'Z' @ 58, 69 MY g gafer S O g
R T § AR g A U g FUEL & T @og
G &

Matrix | Matrix I
HTER - | =GR -

G |= |7 | = (|

D= =0 Z >
= |C|w(C|Z |~

LW N =D
olmniz|n|—-|o
Gl=|m| =~ M
®(E|=|=x=|w
O ®iE = - &
0|~ || A
- = |E|wn|(c|w
= e | =] | G2
0D O MN|(w o

Options:
1) 21,55,22,02

2) 56,12,87,22
3) 23,45,12,22

4) 11,02,32,65
Correct Answer: 21,55,22,02
Candidate Answer: 21,55,22,02

QID : 126 - The demand for a normal good decreases with in the consumer's income.

el HTAT= G T AT & TRTae, SUHerdr Hr 379 H & |1Y gl

Options:
1) increase

e

[

2) decrease
3) constant

e
4) double

GITelm

Correct Answer: decrease

fRmac

Candidate Answer: constant

e

QID : 127 - Short run marginal cost curve cuts the short run average cost curve from at the minimum point of short run average cost.

eIl FHI oIl dsh, 3TeUehTollel 3T oTaTel sk ol A 3rcuehlelel AT oIeTd & #gacd g I Fed 8
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Options:

1) top

I

2) below

o

3) right

Y

4) left

Elny

Correct Answer: below
o

Candidate Answer: left
Eny

QID : 128 - "Naval, military and air force works" is listed in the list given in the Seventh Schedule in the Constitution of India.

AN, A IR ARG A T P AR 5 HAT B A I A A e o g B
Options:

1) Union

ER

2) State

T

3) Global

[CEC

4) Concurrent

AT

Correct Answer: Union
FaT

Candidate Answer: Union

HET

QID : 129 - There are total parliamentary seats (Lok Sabha constituency) in Uttarakhand.

3ecRIES A Hel ____ FHEG W (e foraee &) §
Options:

1) 14

2)5

3) 80

4)2
Correct Answer: 5
Candidate Answer: 5

QID: 130 - first became the capital of a kingdom under the Tomara Rajputs.

___ GaY ggel diER TSIl o il & TeTeimh Fa1|
Options:

1) Delhi

el

2) Pataliputra

grefaqT

3) Calcutta

helehedl

4) Taxila

GEIRC

Correct Answer: Delhi
feeel

Candidate Answer: Calcutta
Fefshoell

QID : 131 - Noor Jahan was the wife of which Mughal emperor?

TRoTET TR HITel QMTHeh T Tt A2
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Options:

1) Babur

EICES

2) Akbar

3haT

3) Shah Jahan

QATE 8T

4) Jahangir

SRR

Correct Answer: Jahangir
SRR

Candidate Answer: Jahangir

STEIR

QID:132- resources are those resources whose quantity is known.

FETE & GHTY 81 & TSteTehr AT a7t gl B
Options:
1) Natural resources
Tehfcien FaTer
2) Actual resources
arEdfas g
3) Potential resources
HHTCT FATEA
4) Abiotic resources
3lT gaTee
Correct Answer: Actual resources
arEafas g
Candidate Answer: Abiotic resources
3T FaTE

QID : 133 - The main mineral constituents of the continental mass are and alumina.

FETeAg Fefd Aeg U ___ 3R iR o wist @ el B
Options:

1) iron oxide

3R HFASs

2) silica

e

3) water

qreir

4) oxygen

JiferedioTeT

Correct Answer: silica

IGIGER

Candidate Answer: silica

faforeT

QID : 134 - Among plants, three different genera Solanum, Petunia and Datura are placed in which family?

ateit 7 dieT Fafdee der Aelera, fgfaism 3R erer & v ot & <@ T 82
Options:

1) Cancidae

SereiEr

2) Solanaceae

el gr

3) Felis

e

4) Felidae

Giergr

Correct Answer: Solanaceae

Hrolerdr

Candidate Answer: Solanaceae

Hrelerdr
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QID : 135 - The members of chlorophyceae are commonly called

FARIBISE & FETAT T 9T darer Fgd B
Options:

1) Green

5

2) Brown

o

3) Red

Bich

4) Yellow

frerm

Correct Answer: Green
&I

Candidate Answer: Green
R

QID : 136 - The body cavity which is lined by mesoderm is called

Hres (Fer ) & 3eord RN I[ET H e &
Options:

1) Coelom

ATeT

2) Chordata

Fser

3) Arthropoda

3rfareT

4) Platyhelminthes
cafegfeafeasT

Correct Answer: Coelom
EEIG)

)

Candidate Answer: Platyhelminthes

cafegfenferrs

QID : 137 - Convex and concave mirrors are examples of?

Sedel 3 3rade guuT fha 3aTexor 8?2
Options:

1) Plane mirrors

HHAS GIOT

2) Spherical mirrors

el gdor

3) Inverted mirror

3oel guur

4) Erect mirror

ey ggor

Correct Answer: Spherical mirrors

el gqor

Candidate Answer: Spherical mirrors

el gvor

QID : 138 - The frictional force exerted by fluids is also called

AT GART ST 9T 90T Sl T ___ e ¢
Options:

1) drag

FoT

2) buoyancy
3cCelldehdr

3) upthrust

3819

4) convection

HagsT

Correct Answer: drag

FYor

algae.
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Candidate Answer: upthrust

38T

QID : 139 - Using one can resize, tag digital images, organise pictures into albums by drag and drop, can export the pictures for external use (by e-mail

or print).

1 3T H g FBfSTee R 7 IMHR Feal ST qehell §, 7€ 31 T ST WebelT &, 3o 397 US 319 fahoq G@RT Tosd & ST ST Fehell &, STEL 3T &

T TEART Y AT ST Fehell & (-7l A7 Bie)|
Options:

1) Data Organiser

31eT JRfaAEsR

2) Facebook Organiser

hEgH g

3) Image Organiser

ST JREfATESR

4) Media Organiser

Az smfarssr

Correct Answer: Image Organiser
ST JREfATESR

Candidate Answer: Image Organiser

AT IREfAESR

QID : 140 - A change in which one or more new substances are formed is called

ag UG T Teh a1 U A 3RS AT TS FAT § _ Fgeran B
Options:

1) Physical Change

i aRader

2) Chemical Change

TafaE aRade

3) Rusting

ST AT

4) Galvanisation

J2IE, oI (SredaATgarerT)

Correct Answer: Chemical Change

TS gRadeT

Candidate Answer: Chemical Change

TaE aRade

QID : 141 - The property of metals by which they can be beaten into thin sheets is called

T3t o o7 forees RO 37 et e 7 uRafda fmar s g g,
Options:

1) ductility

et

2) malleability

Kl IGENEIRGH

3) viscosity

T T

4) tensile strength
TAT-TTHeY

Correct Answer: malleability

KIBIGELGIE G

Candidate Answer: malleability

JMETdaSdAr

FHET ¢

QID: 142 - is the number of individuals of the same species that have come into the habitat from elsewhere during the time period under

consideration.

3T STt & St $ ag TEar & S & IR THY 3t F SRie 3marw & il 3R F 3w E
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Options:

1) Natality

SleHCY

2) Mortality

3) Immigration

ATIar T

4) Emigration

3cHdrdeT

Correct Answer: Immigration
3THardsT

Candidate Answer: Emigration
3cdrdeT

QID: 143 - scheme by the Central Government states that an insurance of 10 lakhs will cover each passenger traveling by Indian Rail while booking

a ticket if an amount of 92paise is paid.

e TER A STl & AR I SR Yo & a1 adet arelt eaferer fefane o gfeher sty worr 92 9 o ifaReret Sporaiet &t & ot amam & aRier I &7 10

ST T AT I&TT M|

Options:

1) Gangajal Delivery Scheme

Cpic CRECICREIC DI

2) Mission Bhagiratha In Telangana
et HEfReY 31 deferar

3) National Apprenticeship Promotion
Aol JfeafT gARET

4) Railway Travel Insurance

e AT AT

Correct Answer: Railway Travel Insurance
Xef T AT

Candidate Answer: Railway Travel Insurance
I T AT

QID : 144 - Who discovered electricity and invented the lightning rod and bifocals?

e 1 @t fangar &1 3 a3 areres 3R gfamrerdt @1 snfassr fraer frar?
Options:

1) Kirkpatrick Macmillan

R HAepfdcrT

2) Benjamin Franklin

SSTTHeT Shepfolel

3) William Henry Fox Talbot

AfeTe &R Bieg ¢aele

4) Sir Alexander Fleming

Correct Answer: Benjamin Franklin
SSITHeT Shepfolel

Candidate Answer: Benjamin Franklin

AT thenferet
QID : 145 - Which country will be hosting 2018 Men's Hockey World Cup?

2018 o BIehT faed &Y (TT) 1 AT et AT U FIM?
Options:

1) Pakistan

qrfeRedte

2) Malaysia

Hafrar

3) Australia

Jiteeforr

4) India

AR

Correct Answer: India
HRA
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Candidate Answer: India
ART

QID : 146 - Who was the architect of Humayun's Tomb?

AT T HHS & AEIHR et A?
Options:

1) Ustad Ahmad of Lahouri

e % 3EcTE 376G

2) George Wittet

Siter faee

3) Mirak Mirza Ghiyath

e e Ry

4) Yaqut of Dabul

aTgel & g

Correct Answer: Mirak Mirza Ghiyath
e AT ey

Candidate Answer: Ustad Ahmad of Lahouri
e % TG 376G

QID : 147 - Which of the following award is to recognize distinguished service of a high order to the nation?

rAfaf@a # @ #le a1 REdR Tsg & o TR A fARISe Far 1 Nedried He & v giar 2
Options:

1) Padma Bhushan

T ST

2) Param Vir Chakra

A IR Th

3) Padma Vibhushan

o Fagor

4) Bharat Ratna

AR et

Correct Answer: Padma Bhushan
TaT $voT

Candidate Answer: Padma Vibhushan
aaT feqwor

QID : 148 - Which of the statements given below are correct?

1. The author of the novel 'A Head Full of Ghosts' is M.R Carey.
2. The author of the novel 'The Cartel' is Don Winslow.
3. The author of the novel 'Dodgers' is Bill Beverly.

R R IRyt F A Hi A FUT G 2

1. 3UATE "37 85 ol 3T Oeey" & @ TA. IR H
2. 3T "g FIEA" F G 31T fdereel g
3. 39T "STe" & AEeh frer daelf g1

Options:
1)1and 2
13k2
2)2and 3
23R 3
3)land 3
13R3
4)1,2and3
1,23R3

Correct Answer: 2 and 3

23R 3

Candidate Answer: 1, 2 and 3
1,23R3
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QID : 149 - In April 2017, Emma Morano, the world’s oldest woman has passed away at the age of 117. Which country was she from?

Hﬁa2017ﬁ,%?aﬁma@faﬂm,ummwn?mﬁmﬁﬁwgwlagﬁmé%r@reﬁ?

Options:
1) Italy

scalr

2) France
i

3) China
AT

4) Germany
ST

Correct Answer: Italy
gTalr

Candidate Answer: France
W

QID : 150 - Bangladesh does not share its border with which Indian state?

FITATCRT 3= HIHAT T ToFT ARAT T A TIST AT AT 872
Options:

1) Assam

IH

2) Tripura

g

3) Jharkhand

RS
4) Meghalaya

HeTery

Correct Answer: Jharkhand
FRES

Candidate Answer: Jharkhand
SIRES

QID : 151 - What least number must be subtracted from 210, so that the sum is completely divisible by 11?

Ig #gTAH HEAT HieTdl §, T 210 7 & werd Sfe o) gred TR 11 @ g8 ¥ fasnfard 8t smefe?

Options:
1)2

2)3
3)4

4)1
Correct Answer: 1
Candidate Answer: 1

QID : 152 - A can paint a house in 25 days and B can do it in 10 days. Along with C, they did the job in 6.25 days only. Then in how many days, C alone can do the
job?

A 25 T 7 T OX T W I Gl § X B 38 #1 10 AT 7 [T a1 Gl §1 C & A1 Ao 3e1st 6.25 &t 7 & 38 & &1 9 fham| dF C 3rhel favcel Gt
F HIH G HT Hhell §?

Options:
1) 50

2) 40
3)30

4) 60
Correct Answer: 50
Candidate Answer: 50

QID : 153 - What is the area (in sq cm) of a regular hexagon of side 6 cm?

6 . HY. [T arel Ueh TG TAT weHIoT 7 &l (ot F.40. &) o gram?
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Options:

1) 273

2) 54v/3

3) 54

4)27

Correct Answer: 54v/3
Candidate Answer: 54v3

QID : 154 - If 1 saree is offered free on purchase of 3 sarees, what is the effective discount on each saree?

T 3 AISY Y Tle UX 1 ATET HFA Tl T Gereher hY STl &, af Tedsh FST O Ferel e o g2

Options:
1) 20%

2) 30%
3) 25%
4) 40%

Correct Answer: 25%
Candidate Answer: 25%

QID : 155 - The ratio of present ages of R and S is 6:7. Before 12 years the ratio of their ages was 9:11. What is R's present age (in years)?

R 3R S & FcTATeT 31T T 3191 6: 7 ¥l 12 I Tgel 3oTeh 37T T 39Tl 9: 11 UT| R T aFAT 3y (At &) Fam §2
Options:

1) 56

2) 48

3)36

4) 44
Correct Answer: 48
Candidate Answer: 48

QID : 156 - The average marks of 10 students in an examination was 25. It was later found that the marks of one student had been wrongly entered as 34 instead
of 43. What is the correct average?

T TIeT F 10 S1ET & 3 37 25 A| 916 F Tg 9T T TR Ueh BT & 37 ITeldl ¥ 43 & Tl 34 & &G H gof T 10 §| o T 3iaa Far &2
Options:

1) 25.5

2) 24.1

3) 24.5

4) 259
Correct Answer: 25.9
Candidate Answer: 25.9

QID : 157 - A wholesaler sells a jacket to a retailer at a profit of 25% and the retailer sells it to a customer at a profit of 20%. If the customer pays Rs. 2,400, what
had it cost (in Rs) the wholesaler?

T ek SATIRY 25% 3 olT8T I GeT SATIRY T Teh Sihe Saral & 3N dg Ger SATIRY 20% & W18 9T ATgeh 1 38 Sl §1 IR g Rs. 2,400 FT $ITcllel HIa 8, a
e ST o fohder (3 #) & @ler?

Options:
1) 2000
2) 1600
3) 1800
4) 2250

Correct Answer: 1600
Candidate Answer: 1600

QID : 158 - When a number is increased by 24, it becomes 104% of itself. What is the number?

SI9 Ueh HEAT H 24 6T gig T S €, A € e T 104% Y S 8| a5 HEAT 41 87
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Options:
1) 300

2) 100
3) 600

4) 1200
Correct Answer: 600
Candidate Answer: 600

QID : 159 - If a boat goes a certain distance at 30 km/h and comes back the same distance at 20 km/hr, what is the average speed (in km/hr) for the total

journey?

3R T A1 30 Tenelty/ae & a1fey & veh fAfRere gt aen Sel § 31k 3¢ gy &1 20 Tneliy/ae &1 a1fey & araw a7 a3l §, o ool arm & e sivaa arfer (.20 eier #)

&

Options:

1) 25

2) 24.5

3)24

4) 25.5

Correct Answer: 24
Candidate Answer: 24

QID : 160 - A sum fetched a total simple interest of Rs 1200 at the rate of 7.5%/yr in 4 years. What is the sum (in Rs)?

TS AR 4 AT F 7.5%/a¥ &7 &3 T 1200 T T FTLROT SATST AT FhaT| g I (F ) F41 872

Options:
1) 4000
2) 6000
3) 8000
4) 7500

Correct Answer: 4000
Candidate Answer: 4000

QID: 161 - If -3[1-(x/2)] + 5x/3 = 1/6, then what is the value of x?

IfE -3 [1-(x/2)] + 5x/3 = 1/6, A X T AT F2T &?

Options:

1)2

2)-1

3)1

4) -2

Correct Answer: 1
Candidate Answer: 1

QID:162-Ifa + b = 3 and ab = -4, then what is the value of a3 + b3?

afa+b=33Rab=-4 a3+ 3FATFTE?

Options:
1) 36

2) 63
3) 12

4) -15
Correct Answer: 63
Candidate Answer: 63

QID : 163 - The sum of a non-zero number and 9 times its reciprocal is 10. What is the number?

Teh IR-97 HEAT 3R 5 SGeshalolarell & 9 [T 1 I197 10 §| A g5 HEdT 741 82

Options:
1) 10

2) 11
3)9

4) 90

21/29



Correct Answer: 9
Candidate Answer: 9

QID : 164 - If the 1st and the 3rd term of an arithmetic progression are -10 and -4, what is the 12th term?

e IO Jorf & gger 3R AAX ug -10 31K -4 §, @ 12 a7 ug, FAT 8?2

Options:
1) 26

2) 20
3) 17

4) 23
Correct Answer: 23
Candidate Answer: 23

QID : 165 - What is the reflection of the point (2, -3.5) in the y-axis?

y- 3787 WX faig (2, -3.5) a1 gidfeiT Far 82

Options:
1) (-2, 3.5)

2) (-2, -3.5)
3) (-3.5,-2)
4) (3.5,2)

Correct Answer: (-2, -3.5)
Candidate Answer: (-2, -3.5)

QID : 166 - Point A divides segment BC in the ratio 1:3. Co-ordinates of B are (4,-4) and C are (0,6). What are the co-ordinates of point A?

foig A X@T@s BC T 1: 3 & 31e7ared & TIsAforet el §1 B & f3densh (4, -4) 3R C & éenah (0, 6) &1 Torwg 'A o Terderien aram 2
Options:

1) (-3,1.5)

2) (-1.5, 3)

3) (3, -1.5)

4) (1.5, 3)
Correct Answer: (3, -1.5)
Candidate Answer: (3, -1.5)

QID : 167 - What is the slope of the line parallel to the line passing through the points (-2, -1) and (4, -3)?

(-2, -1) 3R (4, -3) Rig3HT @ GreT TR aTell TGN & FATATCR I@T FHT GolleT fohetall 82

Options:

1)1/3

2)-1/3

3)-3

4)3

Correct Answer: -1/3
Candidate Answer: -1/3

QID : 168 - AXYZ is similar to APQR. If ratio of perimeters of AXYZ : APQR is 3:2 and if PQ = 6 cm then what is the length of XY (in cm)?

AXYZ & APQR & FAT &1 AT AXYZ 31 APQR #r okt &1 3reqara 3: 2 # 3R afe PQ = 6 dfealiex &, A XY 1 wiars (FEwrex #) a7m 82

Options:
1)4

2)8
3) 12

4)9
Correct Answer: 9
Candidate Answer: 9
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QID : 169 - Sec 45% + Tan 30% =

Sec 45% + Tan 30% =

Options:
1) (V6 + 1)/V3

2) (1 +V3)/2
3) (V3 +2)/V3

4)5/V3
Correct Answer: (V6 + 1)/V3
Candidate Answer: (V6 + 1)/V3

QID : 170 - A DEF is right angled at E. If mzD = 45%., then Cosec F =

A DEF ¥ E R IHPIOT §| IfE msD = 45% &, ar Cosec F =

Options:
1)1/2

2) 1/v2
3) V2
4) 1/v3

Correct Answer: V2
Candidate Answer: V2

QID: 171 - If Cos 6 = 5/13, then Cosec 6 = ?

fe Cos 6 = 5/13, df Cosec 6 = ?

Options:
1) 5/12

2) 12/5
3) 13/5

4) 13/12
Correct Answer: 13/12
Candidate Answer: 13/12

QID:172-

What is the difference in number of employees of company D and company A?

FTY D 3R YT A & AR T TEAT 7 TR 3R §?
Options:

1) 100

2) 50

3) 150

4) 200
Correct Answer: 100
Candidate Answer: 100

QID:173-

If an insurance agent gets to sell policies to all employees of companies B, D and F, then how many policies does he sell?

e IS AT weie B, D 3R F saferat & Feft et st oiferdy sraretr =g &, oY ag foraeir aifafaar sear &2

Options:
1) 750

2) 650
3) 800

4) 700
Correct Answer: 750
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Candidate Answer: 750

QID: 174 -

Number of employees in company E are lower than those of company B by:

HUeT E #F el i G Sl B & Hehreo fhcait & &
Options:
1) 60%

2) 80%
3) 40%

4) 20%
Correct Answer: 80%
Candidate Answer: 80%

QID:175-

If Company B's department which employs 20% of its employees is sold off to company F, then company F will now have how many employees?

Ife FU=T B 7 a8 faemmer, TS@s 38% 20% FHariat Y Bs9R &ar 37 8, 38 FU F 927 T Sirer €, Y Shuel F 3 319 fohdsr Sy glar?

Options:
1) 400

2) 450
3) 500

4) 550
Correct Answer: 450
Candidate Answer: 450

QID : 176 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

The sailors divided his (1)/ money around themselves and (2)/ the ship sailed on. (3)/No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: 2

QID : 177 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Thank you for (1)/ getting me (2)/ of the hook. (3)/No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 3

Candidate Answer: 4

QID : 178 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

It took several men to the fallen tree out of our yard.
Options:

1) erect

2) establish

3) haul

4) rivet

Correct Answer: haul

Candidate Answer: erect
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QID : 179 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

If you write a forty-page essay in one night, you'll accomplish a huge
Options:

1) treat

2) feat

3) fleet

4) beat

Correct Answer: feat
Candidate Answer: feat

QID : 180 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Whine

Options:

1) Gratification

2) Luxury

3) Thrill

4) Gripe

Correct Answer: Gripe
Candidate Answer: Gripe

QID : 181 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Requisite

Options:

1) Peripheral

2) Deadwood

3) Trivial

4) Precondition

Correct Answer: Precondition

Candidate Answer: Precondition

QID : 182 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Dominate
Options:

1) Surrender
2) Prevail

3) Dictate
4) Command

Correct Answer: Surrender
Candidate Answer: Surrender

QID : 183 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Squander

Options:

1) Frivol

2) Dissipate

3) Hoard

4) Expend

Correct Answer: Hoard
Candidate Answer: Hoard

QID : 184 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Go for a song

Options:

1) One's favourite music

2) Happy go lucky attitude

3) Sold cheaply

4) Something which is prohibitively expensive
Correct Answer: Sold cheaply

Candidate Answer: Sold cheaply

QID : 185 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Make an ass out of
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Options:

1) Cause someone or oneself to look foolish or stupid
2) Work very hard like a donkey

3) Be smart but act dumb

4) Make a mistake

Correct Answer: Cause someone or oneself to look foolish or stupid
Candidate Answer: Make a mistake

QID : 186 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no

improvement is needed, select "no improvement".

I would love to come to your party! Thank you for (invites) me.
Options:

1) invited

2) invite

3) inviting

4) no improvement

Correct Answer: inviting

Candidate Answer: inviting

QID : 187 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no

improvement is needed, select "no improvement".

It must (being) quite an exciting time to be alive.
Options:

1) has been

2) have been

3) been

4) no improvement

Correct Answer: have been

Candidate Answer: have been

QID : 188 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

Full of twists and turns
Options:

1) Tortuous

2) Smooth

3) Cinch

4) Fascile

Correct Answer: Tortuous
Candidate Answer: Fascile

QID : 189 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

The practice of magic
Options:

1) Palpable

2) Witchery

3) Substantial

4) Corporal

Correct Answer: Witchery

Candidate Answer: Witchery

QID : 190 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) andulate

2) undulate

3) undulete

4) andulete

Correct Answer: undulate

Candidate Answer: andulate

QID : 191 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) revelars

2) rewellers

3) revellers

4) rewelers

Correct Answer: revellers

Candidate Answer: revellers
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QID : 192 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

We drank a little and flung
X-soon were all asleep

Y-sand, thoroughly tired out, and
Z-ourselves down on the
Options:

1) ZXY

2) YZX

3) YXZ

4) ZYX

Correct Answer: ZYX

Candidate Answer: ZYX

QID : 193 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

Aqueous rocks of equal

X-exhibit in like manner a stratification nearly undisturbed
Y-over the lake-district of North America, and
Z-antiquity extend for hundreds of miles
Options:

1) ZYX

2) ZXY

3) YZX

4) YXZ

Correct Answer: ZYX

Candidate Answer: YXZ

QID : 194 - In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

The class is required to watch a video tutorial every day.
Options:

1) A video tutorial is required to be watched by the class everyday.
2) A video tutorial is watched by the class every day.

3) Every day the class watches a required video tutorial.

4) Every day the class is watching a required video tutorial.

Correct Answer: A video tutorial is required to be watched by the class everyday.
Candidate Answer: A video tutorial is required to be watched by the class everyday.

QID : 195 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

My father says, "Prices are shooting up alarmingly."”

Options:

1) My father says that prices shoot up alarmingly.

2) My father says that the price was shooting up alarmingly.

3) My father says that prices shot up alarmingly.

4) My father said that the prices were shooting up alarmingly.

Correct Answer: My father said that the prices were shooting up alarmingly.

Candidate Answer: My father says that prices shoot up alarmingly.

QID : 196 - A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives.

Many plays and films have depicted the life story of Gautama Buddha, but what made the musical play The Way Across unique was its regional
focus. Directed by G. Kumara Swamy, the play adapted from the book Telangana lo Buddhism focused on the enlightenment of a cursed Brahmin
Bawari and his 16 curious disciples willing to understand the deeper truths of birth, death, rebirth and brotherhood.

From the impressive use of projector visuals, music and shadow-play, there was every effort to lend authenticity to the theme. Despite the play's
focus on Telangana, the native essence was compromised, due to the English rendition (done for a wider reach). The lines appeared jaded with
literal translations. The honest performances from the crew impacted only on a surface-level. Kiran Kumar's Bawari act and Krishna Chaitanya
Joshi as Pingiya (said to have propagated Buddhism from Telangana to several regions across South India) grab your attention.

What was sacrificed to keep the play in English?
Options:

1) A wider audience

2) Authenticity

3) Depiction of reality

4) A bit of native essence

Correct Answer: A bit of native essence
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Candidate Answer: A bit of native essence

QID : 197 - A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives.

Many plays and films have depicted the life story of Gautama Buddha, but what made the musical play The Way Across unique was its regional
focus. Directed by G. Kumara Swamy, the play adapted from the book Telangana lo Buddhism focused on the enlightenment of a cursed Brahmin
Bawari and his 16 curious disciples willing to understand the deeper truths of birth, death, rebirth and brotherhood.

From the impressive use of projector visuals, music and shadow-play, there was every effort to lend authenticity to the theme. Despite the play's
focus on Telangana, the native essence was compromised, due to the English rendition (done for a wider reach). The lines appeared jaded with
literal translations. The honest performances from the crew impacted only on a surface-level. Kiran Kumar's Bawari act and Krishna Chaitanya
Joshi as Pingiya (said to have propagated Buddhism from Telangana to several regions across South India) grab your attention.

What was unique about the play, 'The Way Across'?
Options:

1) Story line

2) Regional focus

3) It was a musical

4) It was in English

Correct Answer: Regional focus
Candidate Answer: Regional focus

QID : 198 - A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives.

Many plays and films have depicted the life story of Gautama Buddha, but what made the musical play The Way Across unique was its regional
focus. Directed by G. Kumara Swamy, the play adapted from the book Telangana lo Buddhism focused on the enlightenment of a cursed Brahmin
Bawari and his 16 curious disciples willing to understand the deeper truths of birth, death, rebirth and brotherhood.

From the impressive use of projector visuals, music and shadow-play, there was every effort to lend authenticity to the theme. Despite the play's
focus on Telangana, the native essence was compromised, due to the English rendition (done for a wider reach). The lines appeared jaded with
literal translations. The honest performances from the crew impacted only on a surface-level. Kiran Kumar's Bawari act and Krishna Chaitanya
Joshi as Pingiya (said to have propagated Buddhism from Telangana to several regions across South India) grab your attention.

Kiran Kumar played the role of the
Options:

1) Buddha's disciple

2) Gautama Buddha

3) Pingiya

4) Cursed Brahmin Bawari

Correct Answer: Cursed Brahmin Bawari

Candidate Answer: Cursed Brahmin Bawari

QID : 199 - A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives.

Many plays and films have depicted the life story of Gautama Buddha, but what made the musical play The Way Across unique was its regional
focus. Directed by G. Kumara Swamy, the play adapted from the book Telangana lo Buddhism focused on the enlightenment of a cursed Brahmin
Bawari and his 16 curious disciples willing to understand the deeper truths of birth, death, rebirth and brotherhood.

From the impressive use of projector visuals, music and shadow-play, there was every effort to lend authenticity to the theme. Despite the play's
focus on Telangana, the native essence was compromised, due to the English rendition (done for a wider reach). The lines appeared jaded with
literal translations. The honest performances from the crew impacted only on a surface-level. Kiran Kumar's Bawari act and Krishna Chaitanya
Joshi as Pingiya (said to have propagated Buddhism from Telangana to several regions across South India) grab your attention.

Who helped spread Buddhism to South India?
Options:

1) Bawari

2) Buddha's 16 disciples

3) Telangana Buddhists

4) Pingiya

Correct Answer: Pingiya

Candidate Answer: Pingiya

QID : 200 - A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives.
Many plays and films have depicted the life story of Gautama Buddha, but what made the musical play The Way Across unique was its regional
focus. Directed by G. Kumara Swamy, the play adapted from the book Telangana lo Buddhism focused on the enlightenment of a cursed Brahmin
Bawari and his 16 curious disciples willing to understand the deeper truths of birth, death, rebirth and brotherhood.

From the impressive use of projector visuals, music and shadow-play, there was every effort to lend authenticity to the theme. Despite the play's
focus on Telangana, the native essence was compromised, due to the English rendition (done for a wider reach). The lines appeared jaded with
literal translations. The honest performances from the crew impacted only on a surface-level. Kiran Kumar's Bawari act and Krishna Chaitanya
Joshi as Pingiya (said to have propagated Buddhism from Telangana to several regions across South India) grab your attention.

Who directed the play, 'The Way Across'?
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Options:

1) Kiran Kumar

2) G. Kumara Swamy

3) Chaitanya Joshi

4) Bawari

Correct Answer: G. Kumara Swamy

Candidate Answer: G. Kumara Swamy
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